<u>कार्यपालक अभियंता का कार्यालय</u> ग्रामीण कार्य विमाग, कार्य प्रमंडल बेतिया

पत्रांक ५ 6

<u>स्वीकृतादेश</u>

सेवा में,

वरीय कोषागार पदाधिकारी, निर्माण भवन, कोषागार पटना।

बिहार ग्रामीण पथ विकास अभिकरण द्वारा पत्रांक – 🗗 दिनांक – 03 01 2 दे माध्यम से PL Level 01 Office को निर्गत आवंटन के आधार पर MR-3054 RURAL ROAD MAINTENANCE POLICY 2018 योजनान्तर्गत कार्य में पारित विपत्र जिसकी विवरणी निम्नवृत है, के भुगतान की स्वीकृति प्रदान की गई है। विपत्र का भुगतान BRRDDA PL खाता PNBPL004 के Ledger ID-7069 के PL Level 01 Office के द्वारा किया जाएगा।

1 Name of Work: Bettich Nawalpur to Gora.

2 Contractor/Payee Name: Madhu Anand Coustwoling Published

3 Ledger ID: 7069

4 Gross Bill Value: 1.11,50,000 =

5 Deductions:
a. SD
b. PSD
c. EOT

d. Signorage Fee 71459 = 705425 = 305425 = 7

i. Labour Ces: 111500 3

g. TDS-CGSY 111500 >

b. TDS-SGST 111500 =

i. TDS-Income Tax 223000 =

6 Net Amount Payable 9658116 =

F Minety Six Law hifty Sight Bourand one Hundred Sixtury only

Bill Reference No.-

Executive Engineer R.W.D. Works Div. Bettial

18/01/28

08.01.0

BTC FORM - 35

[See Rule 260]

Running Account Bill 'A'

(For Contractors: This form provides for advance payment as well as payments for measured work)

(For Contract	ctors: Ame return
Major Head	Treasury Code
Sub major Head	DDO Code
Minor Head	Bank Code
Sub Head	Bill Code

Cash Book Voucher no.—

Madhu Anand Const Pvt. Ltd. Name of Contractor-

MR-N / 19-20 / Bettiah -21 Bettiah-Nawalpur To Gora Name of work-

Serial no. of the Bill-

Final Bill

No. and date of his previous bill for this work-

Reference to Agreement No: 50 MBD/3054 /2019-20

I —Account of work executed.

			I—Account of work	CACC	atou.					8 2		- <u>8</u>
Advance Payments for work not					up to ement	Payment on the ba measurem	asis of nents.	if actual		sons fo paymen mn 1)		
Total as per previous bill.	Since* previous	Total up to date.	Items of work (grouped under "sub-heads" and "sub- works" of estimates).	Unit	Rate		Quantity executed up to date as per measurement book.	Up to date.		Since** pre- vious bill.		Remarks (with reasons for delay in adjusting payments shown in column 1)
T F				5	6		7	8		9	_	10
1	2	3	4		Rs.	P.		Rs.	P.	Rs.	P.	
Rs.	Rs.	Rs.		Н	51133.76		1.077	55071.00	-		- 1	1
Item. 1	/3	1	Clearing and grubbing road land	Cum	176.86		3022.20	534506.00				
Item. 2	/4	1	Construction of Subgrade and eathen Shoulder	Cum	2213.62		150.079	332218.00	- 1			l.
Item. 3	15	1	Construction of Granular Sub Base		4080.89		123.943	505798.00			- 1	
Item. 4	/6	1	Providing, laying, spreading and compacting WBM-II	Cum	W139400 300010-100		173,669	639196.00			- 1	
Item. 5	17	1	Providing, laying, spreading and compacting WBM-III	Cum	3680.54				- 1	1		
	1	1	Providing and applying Prime coat	Sqm	44.74		2315.586	103599.00	- 1			
Item. 6		1	Providing, laying and rolling mix Seal Surface	Sqm	213.90		2523.368	552365.00	l			1
Item.		1	Providing and applying Tack coat	Sqm	15.22		22724.620	345869.00	- 1			
Item.		l l	Providing and laying SDBC	Cum	11166.93		505.03	5639635.00	- 1]	- 1	1
Item.		- 1	Providing and Fixing 5th Km Stone	Nos	4442.52		1	4443.00	ŀ	ļ	- l	
ltem.	10 /12	ì	Providing and Fixing Km Stone	Nos	2383.99		5	11920.00	- 1	1	1	1
Item.	11 /13	- 1	Providing and Fixing 200m Stone	Nos	636.87		21	13374.00	1		1	1
Item.	12 /14		Providing and erecting direction & place identification Sign	Sqm	12379.51		1.92	23769.00	1		1 1	. 1
	13 /15).	Providing and Fixing 600mm equilateral traingle		3673.54		36	132247.00	1			1
Item.	14 /16		Providing and Fixing doublin equilateral traingle	Nos	30.57.		9				1	1
			cautionary,mandatory sign	Nos	3603.13		7	26622.00	1			1 1
Item.	15 /17		Providing and Fixing 600mm circular cautionary, mandatory	Nos		N.		50504.00		1	1	1
Terms	16 /18	12	Providing and Fixing 600mm x 450mm rectangular,	Nos	3674.00	4	16	58784.00		1	1	
item.	10 //18	1	cautionary, mandatory sign	1103		1				Į.	1	1 1
	. = /2.	1	Providing and Fixing boundry pillar	Nos	535.52	2	80	42842.00		1	1	
Charles Co.	17 /21	· ·	Providing and rixing obtained providing	Each	818.84	1	180	147391.00		1	1	
	18 /23	1	Planting of trees by the road side	Sqm			1089.4	801188.00		1	1	1
Item.	19 /24	1	Road marking with hot applied thermoplastic compound	Nos	The Market William		2	de Announcement of Company		1	1	
Item.	20 /25	-	Providing and Fixing typical informatory Board	Cum	200		14.4				1	
Item.	21 /26	1	Brick masonry work in cement mortar	Sqm			100.80	64 15 CHILD ST 1880 ST 18 CHILD		1		1
Item.	22 /27	1	Plastering with cement mortar	Sqm	20 July 20 Jul	5.97	100.80	A STATE OF CONTROL OF		1		
Item.	23 /28	1	Painting two coats including primer	Oqu	77.1		100.00]				
		1		1	1		1	10105599.00	1		51	
	1	1				1_		10103377.00				

^{*}Where there is an entry in column 9 on the basis of actual measurement, the whole of the amount previously paid

without detailed measurement should be adjusted by minus entry in column 2 equivalent to the amount shown in column 1, so that "Total up to date" in column 3

may become 'Nil'. **When there are two or more entries in column 9 relating to each sub-head of estimate they should, in the case of work

the accounts of which are kent by sub-head he totaled and total recorded in column 10 for meeting in the works abstract

Bihar Treasury Code - 2011

BTC FORM - 35 (contd.)

III - Memorandum of Payment

				T 0- 10	
	Total value of work actually measured a	s per Aggount 1, Col 8, Entry	(A) 114170 45	Rs. P	
•	2. Total "Up to date" Advance payments for	or work not yet measured, as p	per // 4,/ 7,0 9-		
	Account 1, Col 3, Entry (B) 3. Total (Items 1+2)	Cers. Pr. Pay) Nil		
	3. Total (Items 1+2) Figures for 4. Deduct - amount withhele	Ø	As. p.		
	Work . From provious bill so po	er last Running Account Bill.	11417104	0 =	
	Abstract b. From this bill	,	/ 4		
:0	I He I PI/	ayments (Items 3-4)	<i>VIQ</i> (K)*	= 40000	
Tr. 27. — 2	10. Total amount of payments	s already made as per Entry (
	Running Account Bi	ll Noforwarded with	n accounts		
3027-17 - 11	7. Payments now to be made	, as detailed below :-			
CM57-14 1			Rs. p.		
L-con-17 1	11 (a) this work	Rs. p. (a)			
	211160				
s.fue -	71459 Fotal 4 (b) + 7 (a)	(G)			
Rox —	By recovery of amount of the works or heads	nts creditable to	7		
1	Value of stock suppli) (b)			
By conserved	F 9658116 L Paried La	NF 11150000	= One Com	o sino	y Lac
		Thousand on	W/_ 900		,
L	1 1 1 5 0 0 0 d (c) 1 (c)		· 1 1 1		c 11
Payl	Rs. June 1	ME 7 9628119	- Min ely S	1x Las	hijty
	by cheque		d Sidtery C		_
Rece	eived Rs & (Y	(Dated initials of Dist	1 1 1 1 1 1	2
	(Amount in	words) as per the above mem	orandum en account	08	
			EXECUTIV	re Engineer	0
		a a	A 1 2 2 4	rks Div. Bettlah	2022
Date	ed 20		St St	amp 08.	61.2022
	* "				
² Wit	tness		(Full Signati	ure of Contractor))
	by me, vide cheque no.	dated			
		(Dated initials of person ad		rseer	
			adany making the pay	ment)	

^{*}This figure should be tested to see that it agrees with the totals of items 6 and 7. ** If the net amount to be paid is less than Rs.1000 and it cannot be included in a cheque, the payment should be made in cash, this entry being altered suitably and the alternation attested by dated initials. ± Here specify the net amount payable, vide item 7(c). § The payee's acknowledgment should be for the gross amount paid as per item 7 (a+b+c).£ Payment should be attested by some known person when the payee's acknowledgment is given by a mark, seal or thumb impression.

Sch. XLV	/-Form No			IR.	
Particular	rs Details	ls of actu	al meas	urement D.	t Contents of area
	140,	1	09	101	05599.00
ALG.S	1 @12	1., 1	10.	10	12672.00
		1/7	Da	1	01056.00
Add C-C	701	1/=	Kg.		0 000
	-		10	1	10700
,			Pg.	#14	1932700
less for p	P viot	* but	=R4		228400
0 - 0 3	27.6	elan		=	+
			Rg.	114	17043
_ limi	Hed +	o Rs.	5,11,1	0,000	2= -
John	~ ~ 1		20-		Colin
10-12	104	S	41121	V.	Auga
Kr.		r — —	1		000
7.6.			0		
	nen	no of	Pays	1	
S.D. S.Z.			622	++	7
17-2%			223		7
2027-1% -			1115	00	
(2027-1%)		1	111	200	-/
L. cors 1%		- 1	1115	2005	
s.Fee			714	(2)	1
loy -				5 42	5/
Deduc	lin	F- 1			12
					/
By chms					
	Hal 7			20,00	
Parsel In	FIII	2000	0 = 10	hir	sore Elney
lous hifty	, 1	1100	10/ 1	NA / 1	1
ws infty	1110	~() OH	14-6	my)	
		A	wh.	1.22	
	Exec	cutive	Engir	leer	_
	RW.D	J. Works	Die Be	ttlah	.2022
	K	سرينها	^	on"	200

08.01.2